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B. SC. GENERAL (WITH ZOOLOGY) 

(BSCG) 

Term-End Examination 

December, 2023 

BZYET-143 : INSECT VECTORS AND VECTOR- 

BORNE DISEASES 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory.  

 (ii) Attempt any four questions out of 

question nos. 2 to 7. 

1. (a) Match the items (insect names) given in 

Column A with their ‘mouthparts’ in 

Column B : 5×1=5 

Column A Column B 

(I) Mosquitoes (A) Sponging type 

(II) Cockroach (B) Rasping-sucking 

type 

(III) Housefly (C) Biting and 

chewing type 
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(IV) Thrips (D) Chewing-lapping 

type  

(V) Honey bee (E) Piercing-sucking 

type 

(b) State one function of each of the following :  

      5×1=5  

(i) Ommatidia 

(ii) Malpighian tubules  

(iii) Neurons 

(iv) Pulicides 

(v) Insects growth regulators   

2. Differentiate between the following pairs of 

terms :   4 × 2
1

2
= 10 

(a) ‘Complete metamorphosis’ and ‘Incomplete 

metamorphosis’ 

(b) ‘Bubonic plague’ and ‘Septicemic plague’ 

(c) ‘Insecticide-Treated Nets’ (ITNs) and ‘Long 

Lasting Insecticide Nets’ (LLINs) 

(d) ‘Cultural control of Houseflies’ and 

‘Mechanical control of Houseflies’.     



 [ 3 ] BZYET-143 

  P. T. O. 

3. Write short notes on any two of the following :  

2×5=10 

(a) Circulation of Haemolymph  

(b) Life cycle of Housefly 

(c) Order Diptera 

4. Give an outline classification of class insects up 

to orders with examples.  10 

5. Discuss the concept of Kala-Azar elimination in 

India.   10 

6. Describe the life cycle of malaria parasite with 

the help of a well-labeled diagram.  10  

7. Describe the external morphology, life cycle, 

medical importance and prevention of the head 

louse.    10 
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(i) 

(ii) 

A B

5×1=5  

A B

(I) (A) 

(II) (B) 

(III) (C) 

(IV) (D) 

(V) (E) 
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5×1=5 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

4×2
1

2
=10 

(ITNs)

(LLINs) 

2×5=10
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